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FA 32SA
3 FEstda|ptEEy FoHIECR
Rl GoaESA daE ALY (SH9 H2)
A - F3 - SA(3H) - HRANY - BES Off &K & A HusZ
01 AlZHI 254,947 203,400 51,547
OUXE 2A CHIAIAE A=
41,400,000 41,400 31,400 10,000
0319/ SEXH Wil SA
41,547,000& 41,547 0 41,547
03 A& S CHYI 453 0 453
O34 &SEH =M SA AIERU
all 453,000 453 0 453
405 THEFSHI 100,000 60,000 40,000
01 ML ESFSHI 100,000 60,000 40,000
OF IPHED| 7Y 40,000,000 40,000 0 40,000
A2l Ot Y 1= 2,422,675 1,853, 184 569,491
< 40,000 40,000 0
Al 2,382,675 1,813,184 569,491
SZNHE 2 2,222,675 1,653,184 569,491
201 LBt 551,930 369,114 182,816
2 S22l 543,256 360,440 182,816
OOISCCTV ME3E ALE=
182,816,000 182,816 0 182,816
401 AlEBIYL S CTHYI 345,000 380,000 235,000
01 AlZHI 342,840 377,300 A34,460
OLEHES TV EXISA
300,000, 0002 99.28% 297,840 9,100 198,740
OF2AXIA CCTV & XISA o0& 0 248,200 A248,200
OF MY CTV 23 At 15,000,000 15,000 0 15,000
03 A& CHYI 2,160 2,700 2540
OHEE CCTV EXISAt
300,000,000 +0.72% 2,160 900 1,260
OFAXA CCTV & XISA o 0 1,800 21,800
405 THHF S 546,675 125,000 421,675
01 Tt =S F=HI 546,675 125,000 421,675
O0tE FHAXNSR SEZAEX 7L
250,000,000 250,000 0 250,000
OCCTV SEZa22] Jratst A Wi
151,675,000& 151,675 0 151,675
OSS2NUE e=28s)] Wi
20,000,000 20,000 0 20,000
HY2HIH(ZESAD) 27,600 27,000 600
J23H(FESA ) 27,600 27,000 600
Jl2ZH(FESAlmn) 27,600 27,000 600
203 HR=H| 4,800 4,200 600
M A2 LRSI 4,800 4,200 600
OZEESAL 400,000 128 4,800 4,200 600
Hegs(@esa) 12 0 12
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